

PART- A

DETAIL OF FOREST LAND

CALCULATION OF NET PRESENT VALUE (NPV) OF FOREST LAND INVOLVED FOR CONSTRUCTION OF PARMAZ LINK ROAD BY PWD (R&B) SPL SUB DIVISION DODA.

1	Compartment No.	Not Applicable. Area falls within undemarcated forest (protected forest).
2	Forest Area Involved	0.03 Hac
3	No. of Trees/Poles	114
4	Cost of Fencing = 3750 rft @72.78	272925/-
5	Cost of land as per NPV ECO Class -V for 0.03 ha @ Rs. 8,45,000/- per Ha	25350/-
6	Felling and extraction charges of trees	21220/-
7	01 Nos of Sign Boards	6000/-
8	02 Nos of Gate	10000/-
11	Compensatory afforestation (cost of plantation)	78531/-
	G.Total	414026/-

In words: Rupees Four lakhs fourteen thousand twenty six only



Assistant Executive Engineer
P.W.D. (R&B) Sub-Division (Exst)
Doda Forest S. Division
Doda



R. J.
Range Officer
Sri Range Doda



J. B. D. Doda
FOREST GUARD



Executive Engineer
PWD (R&B) Spl. Sub Division
Doda

Nameek
Divisional Forest Officer
Doda Forest Division Doda

**CALCULATION COST OF FENCING OF CLOSURES INVOLVED IN
CONSTRUCTION OF PARMAZ LINK ROAD**

S.No	Total No. of PCC fence post/RFT	Rate	Total Amount
1	Cost of Fencing = 3750 rft @72.78	72.78	272925
2	01 Nos of Sign Boards	Lumpsum	6000/-
3	02 Nos of Gate	Lumpsum	10000/-
	Total		288925/-

In words: Two lakhs eighty eight thousand nine hundred twenty five only

Shanday

JE

17/1/2015
Assistant Executive Engineer
P.W.D. (R&B) Sub-Division (Exst)
DODA

Amrit
F.O. Soil
Range Officer
Soil Range Doda

E. B. G. Amrit

Ellice
Forest Guard

Executive Engineer
PWD (R&B) Spl. Sub Division
Doda

C/S
Nameek
Divisional Forest Officer
Doda Forest Division Doda

**CALCULATION OF N.P.V. OF FOREST LAND INVOLVED IN
CONSTRUCTION OF PARMAZ LINK ROAD**

1.	Total Forest land involved in proposed project	0.03 Hac (Undemarcated forest)
2	Rate per hac as per Hon'ble S.C of India's order dated. 28/03/2008 in I.A No. 826 in 566 and together I.A regarding the rate of NPV of Forest land (Eco Class V Dense Forest)	8,45,000.00
3	NPV of Forest Land involved	25350.00
	Total	25350/-

(In words :- Rupees twenty five thousand three hundred fifty only)

Shanday
JE

~~Assistant Executive Engineer~~
P.W.D. (R&B) Sub-Division (Exst)
DODA

Dum
R.O.C.
Range Officer
Soil Range Doda

Jyoti
S.B. Gumber

Khurja
FOREST GUARD

Executive Engineer
PWD (R&B) Spl. Sub Division
Doda

Naresh
Divisional Forest Officer
Doda Forest Division Doda

**DETAILED WORK DONE ESTIMATE FOR EXTRACTRION OF TREES
COMING IN THE PROPOSED ALIGNMENT OF CONSTRUCTION OF PARMAZ
LINK ROAD**

S.No	Item of Work	Qty	Rate (In rupees)	Amount(in rupees)	Remarks
1.	Enumeration of trees	114 Nos	5.40/- per Tree	616.00	
2.	Marking of Trees	114 Nos	9.75/- per tree	1112.00	
3.	Felling of trees , hand sawing/ conversion and its splitting making fit for head load carriage/stocking upto loading point rod side	15 Qtls	105.57/- per Qtls	1584.00	
4.	Weightage, Loading, unloading, Depot handling and other misc.	15 Qtls	21.48/- per Qtls	322.00	
5.	Extra carriage on account of firewood through head load	15 Qtls	50/- per Qtls	750.00	
6.	Mechanical transportation of firewood	15 Qtls	1.90/- per qtls/ per km	86.00	
7.	Watch & ward for 01 labour for 1 months	1 month	6750/- per month	6750.00	
8.	Over head expenses		L/S	10000.00	
Total				21220/-	
In words: Twenty one thousand two hundred twenty only					

Shanday
J.E

SSJN
Assistant Executive Engineer
P.W.D. (R&B) Sub-Division (Exst)
DODA

JK
Range Officer
Soh Range Doda

JK
Bo Gaikar

JK
FOREST Guard

Executive Engineer
PWD (R&B) Spl. Sub Division
Doda

Nameeb
Divisional Forest Officer
Doda Forest Division Doda